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Sum and Difference Identities

sin{A + B)=sinA-cosB+cos A -sinB
sin(A - B) = sinA-cosB-cos A -sinB
cos{A+B)=cosA-cosB-sinA-sinB

cos(A —-B)=cosA-cosB+sinA-sinB

tan(A + B) = tanA +tanB
l1-tanA-tanB .
tan(A - B) = tanA -tanB
1+ tanA-tanB
cot(A+B)=1—tanA'tanB
tanA +tanB
Cot(A_B)=1+tanA-tanB
tanA —-tanB
sec(A + B) = sec A -secB
1-tanA-tanB
sec(A —B) = secA -secB
1+tanA - -tanB
csc(A +B) = cscA-cscB

cotA +cotB

cscA-cscB cscB-cscA

csc(lA~-B)=- =
( -) cotA ~cotB cotB -cotA

MNote: Some of these may net apfedr injjour +extbook.
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<, Table of Exact Trigonometric Values

T T T T
0 (rad/deg) | 0=0° | Z=30° | Z=45° | Z=60° | Z=90°
(rad /deg) = 2 3 >
sin@ 0 1 J_§_ iS—_ 1
2 . 2 2
cosO - 1 _‘/_g_ iﬁ_ l 0
2 2 2
tan® 0 g 1 V3 o0
cot® o J3 1 g 0
secH 1 ___2‘315- J2 2 o
csch o 2 J2 ____2;[3— 1

é. fom/wre an cxact yafue of Cos /S °

Cos /S = cos (‘7’5“—30“’) = CoSYS5 %0530+ 5/n 4S5 5,030
o P
> +

f ‘ [6 +/2
Z 7T Ty Y (Dmfer o’lcaf€raf'(0n.}“):—__'-_f__

A

Moress [T he cos;ne ‘{:-(nC'(:lem /‘h cos (§° /'mmea/(a:re{
narressed down T he lrsr oF /3 Sum/D,‘fC\(
/'/e/ﬂ‘“/’f/éﬁ 7o TAe jnf'am( ¢/+A ;f(enr;f-/’e: for
cos (A1B) and cos (A ‘B) , Since #5° was coritren
as + he a//:r[/erehce 45 30° (f‘a.TAef‘ Fhan as «
M a% 7 &o 4n7/é._s)/ fAen we /<new o US @

cos (A-B) = cos Acos B #sin AsinB. A/io/ the order of
ofﬂraf';‘an_s refu/;-e/ f.Ae 7Two m;/j_/;b/;;g_af(;onf To ée
dsne betore +he addition in _f."é -f-_z._% —

-

LY



7 Com,éwre an @xact value of tan 75°

FondS —+Tan3o°
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[o. ble now return ro a tamilar problem, modiied

7o use tf)e Suem /DHQC Io/e/:r;f/‘fj
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